4. Gradient of Straight Line NOTES.notebook

Starter

1) Simplify the fraction: % = 59_ ,10 _5
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2) Change the subject of the formulato m:  p = 2(m + 4)
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3) Simplify the expression  2(p +4)xp +2+-p
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4) Solve the equation:  7(p - 1) - 3p = 2(3 - 2p) - p

Gradient

Gradient is a measure of how steep a line is.

vertical distance

radient= ——————
9 horizontal distance

e.g. Find the gradient of the slopes:

1) 2)
A“m o
R~ 5 20
oty qEes
- = I

3% If points are collinear, they all lie on the same
straight line (with the same gradient).

e.g. If A(-4, -2), B(-1, 1) and C(8, k) are collinear, find the

value of k.
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August 14, 2017

Today's Learning:

To calculate the gradient of a straight line using a
formula.

Gradient of a Straight Line

Given coordinates of points on the line (x,, y;) and (x,, y,),
we can use
gradient = Y2 h

X2 = Xq
E.g. Find the gradient of the straight line that passes
through
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Positive gradients: Negative gradients:
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